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Math.abs(x) Returns the absolute value of x

Math.ceil(x) Returns x, rounded upwards to the nearest integer
Math.exp(x) Returns the value of E”x

Math.floor(x) Returns x, rounded downwards to the nearest integer
Math.log(x) Returns the natural logarithm (base E) of x

Math.max(X,y,z,...,n) | Returns the number with the highest value

Math.min(x,y,z,...,n) | Returns the number with the lowest value

Math.pow(Xx,y) Returns the value of x to the power of y

Math.round(x) Rounds x to the nearest integer

Math.sqrt(x) Returns the square root of x
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